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2. i=sS2H=E

SIAGE ¢ 20204

Of AbXE=s ¢ 20f

A2  AEREDIZ

® NS4XsZ (Bl 8R)

= = H & X = Al g

& = =9l D=4l g g = XEH HEEX &N g2
g A 126,667 125,362 1,315 | & A 126,667 125,352 1,315
o 2 = 0 0 O|HISXdAMIH 6,700 6,700 0
8 = 32 0 0 0| X4 A g bl 0 0 0
g 2 0 0 ol & 2 ¢l 0 0 0
Btz =z 0 0 0|21 2 & 0 0 0
HE=a38 =+ 0 0 ool & = 0 0 0
Ol XI = 8 %= 124,810 123,152 1,658 | Ol Al = 119,967 118,652 1,315
o = = 0 0 0| nazzzays 0 0 0
o X %+ g 1,857 2,200 A3 | a2 SaS 0 0 0
J B+ ¢ 0 0 02 & X & 0 0 0
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S|HHE 2020
Cll &b b= o 204
SIRE - AEXRIIB
@ £+ = 9 E)
3 @82 ae | L85 | =2 MEU
S0
200 Me+g 1,857 2,200 A343
210 A=A 24 1,857 2,200 A343
216 Ol A& 1,857 2,200 A343
216-01 B30 20/ X2 1,857 2,200 A343
0321 Hxi=a Ol = 1,857
700 EXUASLLEN N 124,810 123,152 1,658
710 BN S 124,810 123,152 1,658
714 Ol X 28 % 124,810 123,152 1,658
714-01 Ol X S 8l 4 124,810 123,152 1,658
o212 X3 8= = 124,810
= o & A 126,667 125,352 1,315
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BAHHE 20204
Ol AbXES= @ 20 &

BT ABREIIZ
® &A= EERED
XX .22 HH . o9 - NSAY - BES nae | S5 | wosa
=R P ) 126,667 125,352 1,315
AlZojototd 126,667 125,352 1,315
HMze| 6,700 6,700 0
ASRMC(ABTIEINB) 6,700 6,700 0
Al Szl 6,700 6,700 0
201 2er29H| 2,000 2,000 0
01 ArR&elbi 2,000 2,000 2,000 0
OE24H 4 EEE2 HE 4,000&1 %2500 = 1,000
OAZERMAA E4AE A3 W
5,000 20000 = 1,000
301 B8R Z 4,700 4,700 0
12 JIEI2 43 4,700 4,700 4,700 0
OSARBsHE & ESSAE 0/HYL AMES
IE=
18,800R1 %1250 x28 = 4,700
NLesS(sHIAMNDL) 118,967 0 119,967
AZXEIZ(AEREIZ) 119,967 0 119,967
MSTEIS 119,967 0 119,967
602 OlXl= 119,967 0 119,967
01 Wxl=2 119,967 119,967 0 119,967
O21 ox3 119,967 ,000& = 119,967
A & # 126,667 125,352 1,315
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e | 5H =
3. Y D24 Y ZasE
AT : 20201
Ol atRIS =0
TR : AEXEDZ2 (EHE))
x4 A
o c 8 =y =18
H@ ez 5X3 Xel= (OIXE &) Ola==2 | OIXI=e! | JIEIY

2014¥ DAl 221,951 80,000 78,320 0 18,049 45,582
20158 & 2,637 0 0 0 2,537 0
201649 & 8,529 0 0 0 2,208 6,321
20178 & 1,804 0 0 0 1,804 0
2018 = 1,605 0 0 0 1,605 0
20198 = 1,639 0 0 0 1,639 0
20208 &= 1,857 0 0 0 1,857 0

b 239,922 80, 000 78,320 0 29,699 51,903
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ST @ 20201
Off b Xps= 20 &
SAAE  ABAUBIZ HedE)
3y o
ol
SEE 4 |HSXE|SXEA emeay | HAIR | o4+238 Siexe | @®
MH | H [ I=3 | 22As | 22
2014 DX 95,155 86,635 0 8,520 0 0 0 126,796
20158 = 0 0 0 0 0 0 0 2,537
20169 = 4,700 4,700 0 0 0 0 0 3,829
20179 & 6,700 6,700 0 0 0 0 0 A4,896
20188 0 0 0 0 0 0 0 1,605
20198 & 6,700 6,700 0 0 0 0 0 25,061
20204 & 6,700 6,700 0 0 0 0 0 24,843
A 119,955 111,435 0 8,520 0 " 0 119,967




T =2 0a =1
4. lixls & GIEg= Al
B AHE 1 202014
Oll &b Xp== 0 20| &F
A2  AETEIS (Bt 2 Q)
= - Olxl % ofl&ted
& Oil XI (&) A Hl1
01BE=HEHY | 019EH-LHYUG | 2020 =LHUAO £2(0-®@)
& 129,872 124,810 119,967 A4,843
X2 E | 129,872 124,810 119,967 A4,843
sg2¥ 128,872 124,810 119,967 A4,843
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